Suttenn Maths Class

Year 5 - Week 27 - Circles

Starter: % 2 S S
( [ _ ___ ¢ =— | -2
1 ] 2TRT e 5, e

1 In a bag of 60 sweets 5 are red, — are blue and the rest are green.

What proportion are green? How many are green? —C;’—,,Q o= (o

2
2 A bag contains 180 marbles. Freddy takes E of them out of the bag,

and then gives — of those taken out to his friend, Kenny. How many

marbles does Kenny have? What fraction of the marbles does Kenny

- = (20 2
have? t C‘P/}%O ¢°Qf |20 @

QO
3 What is 2.5% as a fraction? 25 | (§D
1000 ‘ 4o
4 What is % as a percentage? 2% 2 % - % - Q0¥

Hint: Change the denominator to something easier to convert.

5 3000 x 0.12 = 2>
6* 1.2+0-3=4

2 LA 0
7 Decrease £150 by —. & Q1D < _
5 307&2:66 1 SZ) \éd \Z‘C?O

8  Increase £200 by 40%. WOXL &
- T 200 480 = £ 2F0
0 80EF=100= - 2o S

250

10 —-7X—-8= %6 >
o7

11 —=7+420= 173 ele

12  Write 250 as a product of primes. s
P P 2xS%xSxS ov 2x9

13  Find the highest common factor of 100 and 45.
2% st %S
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14

15*

Hint:

16

17"

18

19"

20

22

C:"w’ ; b > Hf & ME, ( { P . "y
suctenn Mabhs CLas

Write the next two terms: 1, 1, 2, 3,5, 8, 13, 2.

2 _
10-80+== (0 - 3° ,(% <0 ~120 ¢ ~\O
3
use BIDMAS and use your rules of dividing fractions.

Divide £500 in the ratio 4:1.
Uoc) oo

Find the first 4 terms of the sequence with nth term n® + 1.
2,S,\0, % _

Solve 1I0x —6 =7x + 18
R~ —é:\% |&¥~L = 24

4x + 4 )
Solvex—:4 23

bGotlp = 2@ 20 -4 <1616
How many faces does a tetrahedron have? e @

Write 20000000mm in km. 22 kua
mm —) G\ —m M — o~

sle e mleee Cjreles

f Diameter

(Length all the way Radius

across the circle and (Length half way

through the centre)  across the circle and
through the centre)

Circumference Centre
(Length all the way
around the circle)

Piorm
Pi or mtis an irrational number (‘the decimals go on forever with no pattern’)

3.1415927........... As this is irrational we use an approximate value, 3.14.
We use =~ to mean ‘approximately equal to’.

n=3.14

Circumference of a Circle
The circumference of the circle is the length all the way around. The

circumference of a circle is always mt x diameter, or approximately 3.14 x
diameter.

Circumference = 3.14 x diameter

«:q@
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Questions:

1 Using the approximation 1 =~ 3.1 find the circumference of the
following circles:

s

- 2. )x|D T XWX
FﬂﬂX)CD—:“ 3| w20 < Ll
XD =3 ee

X3z
2.)%3z9-2
~ 110

£2
2 Using the approximation 1t = 3 find the Aroa = 30 )
diameter and radius of the following circle. rea = 00 cm
T o
Amq = erlg A% = 300
rt = oo
r = Jioo! = /0

3 (Beyond 11 plus)
Using t = 3.1, find the area and
perimeter of the following semi-circle.

N ,.7’7 L
A= toxr =Ladieusl0 = Slhem
| (Semi curcla) . Cl0om o
P = ﬁxo\ " QQ - ~ X Q‘OCN
— ‘
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Sutten Maths Class

Beyond 11 Plus Standard (GCSE):

VA
For the following use m = 3 A=t xr = 2043
Zxy &~ 24°
4 A circle has an area of 2430m2. Find the radius. Find the diameter.

_ , _ . Txd T ¢
5 A circle has a cuforn  of 24m. Find the radius. T = 20

A =2 5o D

6 A semi circle has an area of 96c¢m?. Find the diameter. ‘ .
=T xyrZt= 94 _zy'SXf'r.LiZEF
77** A semi circle has a perimeter of 20cm. Find the radius by forming an =%

equation with r as the radius. /= ™\ 1 xArxr 4 = 29 S0 =6

o a X+ =20

Volume of Cylinder = Area of cross section X height >V =/ =22

nele < a4y =2
/\M'ssinj Using the formula for the volume of a cylinder, find the

W volume of a cylinder with diameter 5cm, © = %S
ond heiglt (oem. Vol =T x 2.5 x 108

9" The volume of a cylinder is 1,470cm? and the radius 1 - -3%“3
is 7cm. Findthelength. xr“xh = )Yy30O
2yyax bk = 3o  wo =L U

10****The volume of a cylinder is 108cm? and the length
is9cm. Findtheradius. 23 x % x9q = (O%

- M3t~ 0¥ rl:q@
12****Find the area of the following cross section of a pipe. The larger circle
has diameter 8cm. The smaller circle missing from the inside has

diameter 6cm.

—_——

)_W/C«Wtb =
T X L‘?_t Ixl6 = 4y
/\
bem SMCMLQZ_, =
| Fon~ A ’W_XZZT SYQZC 277
LCK_YJ(._SMM 2
! wx - 27 <)

13"**The pipe in Q12 has a length of 20m. What is the volume of the pipe.
20D e

O\ x 2000 = 42000 TN
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